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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS ¼9
1

2
½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by forest fire ? Discuss in 

brief the preventive measures you would adopt for 

protection of forest from fire. 

nkokfXu ls vki D;k le>rs gSa \ ouksa dks nkokfXu ls cpkus 

gsrq vki D;k&D;k mik; djsaxs \ la{ksi esa foospuk dhft,A 

2. Write short notes on the following : 

(i) Control measures of tree diseases 

(ii) Pests of teak and their management 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) o`{k jksxksa ls cpko ds mik; 

(ii) lkxkSu esa yxus okys dhV&iraxs vkSj mudk izcU/ku 

3. Differentiate between the following : 

(i) Rotational grazing and Periodical grazing 

(ii) Shifting cultivation and Taungya cultivation 

fuEufyf[kr esa foHksn dhft, % 

(i) vkorhZ pjkbZ ,oa ijorhZ pjkbZ 

(ii) LFkkukUrfjr d`f”k ,oa VkSaX;k d`f”k 

4. Give in brief the damage caused to forest by grazing 

animals. What preventive measures do you suggest for 

control of this damage ? 
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pjkus okys i’kqvksa }kjk gksus okyh ouksa dh {kfr dks la{ksi esa 

le>kb;sA ouksa dks bl {kfr ls cpkus ds fy, vki 

dkSu&dkSu ls mik; lq>k;saxs \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is shifting cultivation ? Describe the various 

measures for control of these practices. 

LFkkukUrfjr d`f”k D;k gS \ bldks jksdus ds fy, fofHkUu 

rjhdksa dh foospuk dhft,A 

2. Comment on important harmful insect pests of 

Dalbergia sissoo. 

MSycfxZ;k fllw ds izeq[k gkfudkjd dhV&iraxksa ij fVIi.kh 

dhft,A 

3. Excessively high temperature is injurious to plant life. 

Discuss. 

vR;f/kd mPp rkiØe ikni thou ds fy, gkfudkjd gSA 

ppkZ dhft,A 
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4. Controlled burning is a useful or harmful practice. 

Discuss. 

fu;af=r vkx mi;ksxh ;k gkfudkjd gSA ppkZ dhft,A 

5. Describe the important insect-pests of nursery. 

ulZjh ds izeq[k dhV&iraxksa dk o.kZu dhft,A 

6. Weeds are competitors of forest plants. Discuss. 

ou ikS/kksa ds fy, [kjirokj la?k”kZe; gSA foospuk dhft,A 

7. Define deforestation. What are the causes of 

deforestation ? Explain. 

fuoZuhdj.k dks ifjHkkf”kr dhft,A fuoZuhdj.k ds D;k dkj.k 

gaS \ le>kb;sA 

8. Describe stem rust disease of chirpine and its control 

measures. 

phM+ ds ruk jLV jksx dk o.kZu dhft, rFkk blds cpko ds 

mik; crkb;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half (
1

2
) mark each. All the questions of 

this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk ¼
1

2
½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True or False against the following : 

fuEufyf[kr ds lkeus lR; vFkok vlR; fyf[k, % 

1. Parasite do not draw food from the host plants.  

     (True/False) 

ijthoh estcku ikni ls Hkkstu ugha ysrk gSA ¼lR;@vlR;½ 

2. In Dalbergia sissoo, Ganoderma Lucidum causes root 

rot.     (True/False) 

‘kh’ke esa] xSuksMjek Y;wlhMe tM+ xyu dk dkjd gksrk gSA  

    ¼lR;@vlR;½ 

3. Shifting cultivation is a destructive method of 

cultivation.  (True/False) 

LFkkukUrfjr [ksrh] d`f”k dh ,d fo/oald fof/k gSA  

    ¼lR;@vlR;½ 

4. Needle rust of pine is caused by Cronartium 

himalayense.  (True/False) 

phM+ esa fufMy jLV dk dkjd Øksukf’kZ;e fgekysalh gSA  

    ¼lR;@vlR;½ 

5. In brown rot, both lignin and cellulose are attacked.  

     (True/False) 

czkÅu jkV esa fyfXuu vkSj lSY;wykst nksuksa izHkkfor gksrs gSaA  

    ¼lR;@vlR;½ 
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Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. Amount of grazing in an area expressed as number of 

animals or equivalent cow unit per acre is known as 

............ . 

fdlh {ks= esa i’kq pjkbZ la[;k x.kuk vFkok xk; bdkbZ izfr 

,dM+ 
----------------------------

 dgykrh gSA 

7. ............. is the important defoliator of Shisham. 

‘kh’ke dk eq[; fu”i=d 
----------------------------

 gSA 

8. ............. causes pink disease in Eucalyptus. 

;wdsfyIVl esa fiad jksx dk dkjd 
----------------------------

 gSA 

9. The felling of tree without permission of forest officers 

is .................. . 

oukf/kdkjh dh vuqefr ds fcuk ò{k ikru 
----------------------------

 gSA 

10. Hapalia machaeralis can be controlled by the release 

of a parasite ............. in teak forest. 

lkxkSu ou esa gsisfy;k eSDjSfyl dh jksdFkke ijthoh  

----------------------------
 }kjk dh tk ldrh gSA 
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